MoounbHaga ctonka PR-107

\
o

[apaHTus nsrotosutens 5 nert.
Mpownseoautens: 000 "CtapTtnpom” 1 i 8
426039, YP, r.MxeBck, yn. HoBocmupHoBsckas, 37.
Tentw/dakc: +7 (3412) 912-850 (MHOrokaHanbHblif).
Fopsyas nuuus: 8 (800) 250-50-51

E-mail.: offce@pk-holder.ru.

Ycnosusa rapantumn: www.holder.su.

&

S S ——

S ——%

Warranty: 5 years.
@ The manufacturer: LLC "Startprom”

426039, Russia, Izhevsk, 37 Novosmirnovskaya Str., A
Bodies./a.. | | 9
Phone/fax: +7 (3412) 912-850 (multichannel). ’
E-mail.: offce@pk-holder.ru.

Conditions of warranty: www.holder.su.

Q89449

@ [apaHTis BUroTiBHMKa 5 pokis. 2 Z

BuroTisHuk: TOB "CtapTtnpom”
/ 426039 YP, m. xescbk, Byn. HosocMmupHoBsckas, .37
Ten./bakc: +7(3412) 912-850 (6araTtokaHanbHui)

E-mail: office@pk-holder.su, /
www. holder.su )

[apaHTbif BbIFOTBOPLbI 5 ragoy.

BritBopua: TAA "Ctaptnpom"

426039, YP, r. Ixayck, Byn. HoBocmupHosckas, 37
Tan./dakc: +7 (3412) 912-850 (wmaTkaHanbHbl) 6
E-mail: office@pk-holder.su,

www. holder.su

5 Xblnpap xacan Wwbirapywuy keningiri.
Xcan weirapywel: "Ctaptnpom” XIWO.
426039 ypanap, NxeBck kanachl,
HoBocmupHoBckas, g kewe. 37 :
Tenenupapsi/dakctep: (3412) +7 912-850 (ken kaHanabICbl) /
E-mail: office@pk-holder.su, . //

www. holder.su

12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27
> -
@ / & & e O Q o
4 wr. M8x80 M8x65 M8x40 M6x70 M8x16 M6x25 M3,5x16 M8 M6 D8 ys.. D8 D6
6wr. 4uwr. 1 wr. 1 Wwr.
1 wr. 2 wr. 2 Wr. 4 wr. 4 T, 8wr. 4 7. 5wt. 4 wT. 2uwr. 10 wr. 4 wr. )






[Tnanku kpennenus: pexnammelx, | |
UMUOXEBBIX KOMMUHUKALLUL




